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SH: ABAE
& 50 EXZ2
2 1 50 Al - ZHIEBEXSE
& 521 Al - EHIEEXZS (e &
SN2 o & o eI HimE=T]
521-01 Al - CHIBEIS 6,008,071 8,562,000 12,543,929
SR SOHEMBSANLAI (M, HSH A2
Z0HE =20km) 297,500
ONYA=EH A BIYPE(LH5HS) 5,710,571
700 2E8=USHUHSE N 8,220,887 8,559,242 A338,355
710 B82S 300,000 300,000 0
1M1 2du= 300,000 300,000 0
71101 =MIAIL = 300,000 300,000 0
O&HHY 02 300,000
720 LHS 4 7,920,887 8,259,242 A338,355
721 = 7,920,887 8,259,242 A338,355
721-03 JIESI HE = 7,920,887 8,259,242 A338,355
Oers B3 7,920,887




